Operaciones con Nimeros Quinarios (J)

223;

X 335

23345

— 14125

43105

+ 14125

121

X 405

2314

X 115

Calcule cada respuesta.

32105

— 24015

33005

+ 40135

10225

+ 41205

31435

X 245

30135

— 20005

24105
+ 34325

3411305|40;

2415
X 245

24305
+ 40015

43045
— 14205

41225
— 1124

1034015235

2303215|43;

1422
— 10315

1222
X 135
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Operaciones con Nimeros Quinarios (J) Respuestas

2235

X 335

14014

23345

— 14125

422-

43105

+ 14125

11222;

121

X 405

103405

23145
X 115

31004

Calcule cada respuesta.

32105

— 24015

3045

33005

+ 4013

123135

10225

+ 41205

101425

31435
X 245

142142

30135

— 20005

1013;

2410;

+ 34325

11342

3411305|40;
44025

241
X 245

1243454

24305

+ 40015

114315

43045

— 14205

2334

41225
— 1124

2443

1034015235
21025

2303215|43;
2412;

1422
— 10315

341

1222
X 135

21441
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